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Local Loop 

‘The Last Mile’ 

Subscriber line carrier systems 

 SLC-96 

  AC DC 
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Color Codes 

Plastic Insulated Cable (PIC) 

Colors: black, brown, red, orange, yellow, green, 
blue, violet, slate, white. (Sound familiar?) 

Some places still have paper. 

 Site 1 

 Site 2 
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http://www.theverge.com/2012/11/17/3655442/restoring-verizon-service-manhattan-hurricane-sandy
http://www.extremetech.com/extreme/141128-hurricane-sandy-damaged-verizons-network-but-clever-technology-saved-the-day


Current requirements 

27 mA to trip the ‘Ring trip relay.’ 

How can we get that? 

 Ring/tip = 500 W each 

 Telephone = 400 W 

 Relay = 350 W 

 Supply voltage = 48 V 

Total current = 27.428 mA 

Necessary for the Strowger switch. 
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Transmitter Current 

Improvements 
 Better mic – Less resistance 
 Higher voltage – 52 V, necessary to run electronic 

switching 
 Ring trip relay current reduction – 20 mA 
Consequences: 
 Total line resistance may be increased. 
Practical consequences: 
 May service customers further away from central 

office.  
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Outside plant design 

Revised resistance design (RRD)  

 up to 18,000 ft.  1300 W  

 up to 24,000 ft  1500 W  

Modified long route design (MLRD) 

 over 24,000 ft 

 pump up the power  78/104 V 
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Central office and serving areas 

Main distribution frame (MDF) 

 Central terminating point for twisted pair 

 Jumper wire for connecting line to phone. 

Wire is expensive 

 Cheaper to have many exchanges with smaller 
wire, than fewer exchanges and thicker wire. 
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Wire gauge 
Metric English Units 
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http://xtronic.org/wp-content/uploads/2010/05/copper-awg-metric-table.jpg
http://www.interfacebus.com/awg-table-wire-gauges.jpg


Wires 

Affects carrier service area (CSA) 

What about the AC signal?  

Reactance considerations 

 ~ 0.083 mF/mile 
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What’s the trick to counter 
reactance? 
Loading! 

 The addition of loading coils help counter the 
capacitive effect. 
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